
M.S.W. (Prrt-I) Errnilrtiott
S(rctAL Rf,'SEARCII AND STATISTICS

PrPcr-V

Timo--Thrce Hounl [Maximum Marks-100

Notc r- (1) Atl qucstions art compulsory'

(2) A[ quedions c€rIY €qual marks'

l. (A) Writc thc chsrsctcristics of Good Hypolhcsis'

Explain thc rourtrs of Hypotbcsis and Dcscribc

otiiity of Hypotei* itr Social Research' 20

OR

(B) Whd do you mcan W Oood Rts€srch Desi$ ?

Describe any tluec types of Rescarch Design with

suitable illu.stztionr' 20

2. (A) Find correlatiou ca-cfficicnt betwee! 8ge 8nd

ptaying habit of thc followirg studgnts ; z0

Atc
(Ycrrr)

l5

l6

l7

No. of
Sa[dcrt!

250

200

150

AQ-279

Rcauhr
Phydrr

200

150

90

uBs-s12t6(R.)
(Contd.)



Rcgulrr
Pleycrs

48

30

12

(B) Find thc Shndsrd Deviation alld its co_efficienr
wages : 20

Weger No. of(Rt.) hbouin
Under-l0 12

20 30

30 65

40 107

50 t57
60 202
'lo z2z

80 Bo
3. write answers on :

(a) Tabulation 5

(b) Coding 5

(c) Classification j
(d) Dsta Trsnscriprion. 5

OR
UBS-51216(RG) 2 (Contd.)

fit-{r

G) qqim qlq 
- gq

(q) qe6r 
- *u

fr) gtord -aM
(E) srqrftrfi rtut[{rcA fiffiqr BciFT

Age
(Yc.rr)

t8.
l9
20

No. af
Sludctrt!

120

100

80

OR

ctsi* tGcr

20

32

25

7

5

)

qGH {<{r

15

33

67

83

100

a-m (Ffr)
6_8

8-10

l0-12

tz-t4
t4-16

l6-18
p) rar+t i rrrn +n

3-tr{ (r.)
100 + 200

100 t 3m

too t 400

100 t 500

100 t 600

5

5

5

5

5

9UBg-51216(Rc)
600



I

5 s-at ka ,-
(s) rlhEfi fig< +rat

SIiFlr(

E

9

l0
ll
t2

l3
l4
t5

(<) qq-a i q"n o<t

ll"T
ll-20
21-30
3l-40
4t-50
5l--50
6l-70
7l-80

({) (cir( qrq r gr 6rdl

<-u-< (ffi)

5

(e) sampling Method

(0 Secon&ry dots collection

(g) Interview-s€hedule

(h) Non-probsbility samplinS.

Write answcrs on :-
(a) Scicntifc Reseatch - Natue

(b) Social Research - Mcrning

(c) Social work Rcsesch - Scopc

(d) Qualitstivc Researrh - Concept.

OR

(c) Sociat Rcsearch - ScoPe

(0 Social Rese.arch - TYPes

G) Concrflualizttion - Procegs

(h) Soci&l u,ork Research - N€ed-
'Wlite answcrs 10 :-
(a) Fiud out Mode :

Slzc Frcq

8

g

l0
ll
t2
l3
l4
l5

5

5

5

5

ITTST((II

Flur{ {qr
42

38

t20
84

48

36

3l

iai* t(4r
l1

l4

5

5

5

5

4

5

6

8

7

9

t
9

6

uancv

5

6

8

7

9

8

9

6

5

5

5

5

5

{
5

5

2-4
+-4

38

i

UBS-51215(Rc) (Contd.) UBs--51216(Re) (Contd.)



(b) Calculate Medisn :

Merkr

ll-20
2t-30

3l---40

4l_50

5l--{0

6t-10

7l-80
(c) Find out Meen :

wcisb. (Iq)

2-4
4--4

6-E

8-t 0

l0-12

t2-t4
14-16

l6-tE

5 3. vflt frEr ,-
(+) erofu-r

. (q) d+ft's-o7

(E) q,fh1!T

(s) ne vnitr<"r.

l*qr
(q) Tgir Fr-{c q{fr

(s) E'ftc6 (q t6-f{
('I) Tnqd-q-dq*

G) rr( fiIq-dl T$il frc-s.

4. rtt fru :-
(q) rn*q qrfrE{ - s6c

F) Hr'{fu6 rtrlla-{ - ad

(6) ffirv6 d tiiu-{ - q+
F) U"ne'+ {nfq-{ - d-6-fi{r

ffilr

G) trrrRr rida-r - qrd
(s) mqrRr {r}m - mn
(l) t{ta-tr(!I - rfrm

([) Ec'q6r{ tr a-< - rrrq

No. of S.[d.trt!

42

38

120

84

,lE

36

3l

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

5

No, of Bt!!

. ll
l4

26

32

25

7

5

2
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(d) Calculate Mediar :

Itrconc (R!.)

100 to 200

100 10 300

100 to 400

. 100 to 50O

100 to 600

No. ol Pcnou

l5

33

63

t3

100

5

OR

(e) Arirhmelic Averrgc - Mcrits

(D Medisn - Denerits

(g) Mode - charactcridics

(h) Us. of Stetisrics ir Socisl Rescarth'

fr.{r
5

(r<r& utarl
qfiT :-(l) {t yrr qfrld qltd

(2) r{ rr'rHl tart W <ltd

{r't qilrrlll Irffi aM R6. Tailfli{,i +d
" ee cri q irqrfu+ tfrEflcA 1fu5artr wftr

sffit sq rn 20

5

5

5

I

UBS-51216(Rc)
(CoDtd.)



2

(e) lrrcr neir.; smruf.ti rilrq iir,{q +tq 1lr.rdi i
ri,q uqlr'crFjE ftriidt Fir &hrrt qRrEs' q1i<ir
(qEa fiI, zc

(q) qred E-{Fqf+ qc s Aducrff c<q qrqfrd n6f.iq
grr+rm: 20

q{ (s{) ffi {-@T ffid Az'E
t5 250 200

16 200 150

L7 150 90

l8 t20 48

19 100 30

zo 80 t2

frqr

F) q-Sfri yqrc EErtr{ E Fqrsr lfFF rftsr : 20

cgfr F) EI{m tsr
ql qr0-10 t2

20 30

30 65

40 t,,t
50 t57

60 202

?o 222

to. 230

6UBS-5l2l6(Re) (Contd.)


